EQUATION OF CIRCLE
Pearson Edexcel — Thursday 4 June 2020 - Paper 2 (Calculator) Higher Tier

1.

12 € is a circle with cenire the origm.
A tanpent o C passes through the points (—20, 0) and {0, 10)

Work out an equation of C.
You must shov all your working.

(Total for Question 22 is 5 marks)
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2.



2} The diagram shows a circle, centre £,

Piip. )

Bilg, O)

o e x

AR is the tangent o the circle at te podnt 4.
Angle 084 = ¥WF

Point B has coordinates (16, 0)
Paoint P has coordinates (3p, p)

Find the value of p.
Giive your answer correct to | decimal place.
Yot must show all yous working.

P —
{Tiotal for Quoesthon 22 s 4 marks)
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3.

15 The equation of a cincle is x* + 32 = 4225

Find the radius of the circle.

{Total for Question 15 is 1 mark)
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4,

18 Here is a sketch of the circle 12 + j.-‘2 = 45,

-J45

r

45

a5

(a) Show that the tangent to this circle at the point (“3, 6) has a gradient of %

(b) Find the aquation of the tangent at the point (3, &).

(b)

[2]

.2
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5.

14 The diagram shows a circle with centre (0, 0) and a tangent at the point (-12, 16).

¥

>

Mot to scale

{-12. 18)

/ [a] "

The tangent crosses the y-ads at the point (0, p)

Find the valua of p.
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6.
21 In this question all units are in cm.
A circle has equation X4 yz = 36.
(a) Write down the radius and centre of the circle.
(@) raditss cuessr samnnnennr s cm
centre: - unnansnnaeas TR 1 [2]
(b) The distinct points A (a, \"'ﬁjl and B (b, u'lﬂ} lie on the circumference of the circle.

Work out the length AB.
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7.

18 The point (-5, 2) lies on the circumference of a circle, centre (0, 0).

(a) Find the equation of the circla.

T JR USRS |

(b) Work out the gradiant of the tangent to the cirdle at (-5, 2).

(1) E OO SOORNY .
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8.

17 Find the exact coordinates of the two intersections of the line y = 2x and the circle x* + y* = 30.

Not to scale
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9.

17 The diagram shows a circle, centre the origin.

5_
E o "
(a) Write down the equation of the circla.
(Y e [
(b) Point P has coordinates (8, —6).
Show that point P lies on the circle. [2]

() Find the equation of the tangent to the circle at point P.
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10.

25 The equation of acircleis x> +3?=9

Work out the length of the diameter.
Circle your answer.

[1 mark]



AQA GSCE — Tuesday 11 June 2019 - Paper 3 (Calculator) Higher Tier
11.

27 In this question, all lengths are in centimetres.
A is a point on a circle, centre (.
B is a point on a different circle, centre (.
AB =20

Mot drawn
accurately

The equation of the larger circle is 4+ f = 144

radius of smaller circle : radius of largercircle = 4:5



Work out the size of angle A0JB.
[5 marks]

Answer degrees
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22 A circle, centre O, passes through (5, 0).

v s
5
-5 0 E 1
.

What is the equation of the circle?

Circle your answer.
[1 mark]

+3?=25 ¥ +)P=5 X+ =10 X +)% =100
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13.
28 P is a point on the circle with equaticn 2+ =80
P has x-coordinate 4 and is below the r-axis.
Mot drawm
v oa accurately
(¥] x
[=]
Work out the equation of the tangent to the circle at P.
[5 marks]

Answer
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14.

28 A, Band C are points on the circle  x*+ y* =36 as shown.

Ais on the y-axis.

B is on the x-axis.

M is the midpoint of AB.
COM is a straight line.

VA

28 (a) Show that the coordinates of A are (0, 6)
[1 mark]

28 (b) Work out the coordinates of B.
[1 mark]

Answer ( . )




28 (c) Show that the equation of the straight line passing through C, C'and Mis  y=x

[2 marks]

28 (d) Work out the coordinates of C.

Give your answers in surd form.
[3 marks]

Answer | , )
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15.

20 Work out the diameter of the circle  x* +)* =64
Circle your answer.
[1 mark]

8 16 32 128
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16.



28 The diagram shows the cirdle ~ x2 + 37 = 10

P lies on the circle and has x-coordinate 1
The tangent at P intersects the x-axis at Q.

}rﬂ
Mot drawn
accurately
P
i} Q .h:x
Work out the coordinates of Q.

[5 marks]

Answer ( )



